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QUESTION 1

A company is implementing 802.1X authentication. These are the requirements: 

Employees who pass 802.1X authentication should be placed VLAN 3. 

Guests and employees who cannot authenticate, or fail authentication, should be placed in VLAN4. 

Different users might connect to port at different times, but only one device will connect to the port at the same time. 

802.1X is enabled Globally on the switch (aaa port-access authenticator) 

Which settings correctly configure the HP ProVision edge ports? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

ftp://ftp.hp.com/pub/networking/software/Security-Oct2005-59906024-Chap08-PortAccess(8021x).pdf Sets the period
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during which the port does not try to acquire a supplicant. The period begins after the last attempt authorized by the max-
requests parameter fails (next page). (Default: 60 seconds) 

 

QUESTION 2

Refer to the exhibit. 

The current software on the Intelligent Resilient Framework (IRF) virtual device shown in the exhibit is version 1104.
The network administrator wants to upgrade to software version 1105. What will happen when the administrator
attempts to use In-Service Software Upgrade (ISSU) for this upgrade? 

A. The IRF virtual device will not accept the ISSU commands. It will output various error messages. 

B. When the administrator executes the switch over to the new master, a rollback will occur, causing the software to
revert to the previous version. 

C. The process can complete successfully. Some links might go down, causing temporary failovers within link
aggregation groups. 

D. When the administrator executes the switchover to the new master, an outage will occur while this master reboots. 

Correct Answer: C 

http://abouthpnetworking.com/2014/03/24/comware5-issu-incompatible/
http://abouthpnetworking.com/2014/03/24/comware5-issu-compatible/ 

 

QUESTION 3

Refer to the exhibit. 
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An HP Comware Switch connects to Voice over (VoIP) phones. The phones connect to user\\'s computes, so each
switch port connects a computer and a phone. These are the specifications: 

The VLAN for data traffic is VLAN3 

The VLAN for traffic VoIP is VLAN11 

The phones support Link Layer Discovery Protocol (LLDP) Media Endpoint Detection (MED). 

The network administrator wants to use LLDP-MED to advertise the voice VLAN ID and priority settings to the phones.
The phones will then send tagged traffic in that VLAN. The switch should not check the incoming traffic\\'s MAC
address 

against its voice OID list. The exhibit shows the applicable switch port configuration. 

Which additional step must the administrator complete to accomplish this? 

A. Enable voice VLAN 11 (voice vlan 11 enable) 

B. Change the port to trunk mode (port link-type trunk) 

C. Enable LLDP compatibility with Cisco Discovery Protocol (CDP) (lldp compliance admin-status cdp txrx) 

D. Enable the port to advertise voice VLAN 11 with LLDP (lldp voice-vlan 11) 

Correct Answer: D 

 

 

QUESTION 4

A company is determining whether HP IMC User Access manager (UAM) meets its needs for a RADIUS server. The
company requires a solution for dynamic access control lists based on user identity and location (connected switch ID).
Which statement correctly describes UAM support for this requirement? 

A. Administrator can use UAM service and access rules to apply identity-based ACLs. The location-based component is
configured in individual switch CLIs. 

B. UAM can only meet these requirements if it is synchronized with Microsoft Active Directory (AD). 

C. UAM can meet these requirements if the company adds Endpoint Admission Defense (EAD) to the solution. 

D. Administrator can configure UAM service policies, scenarios, and access rules to meet these requirements. 
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Correct Answer: D 

 

 

QUESTION 5

Match each characteristic to the connect multicast routing protocol. If both protocols exhibit characteristic, you must
select both. 

Hot Area: 

Hot Area: 
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Correct Answer: 

(PIM-SM distributes information about active sources by forwarding data packets on the shared tree. Because PIM-SM
uses shared trees (at least, initially), it requires the use of a rendezvous point (RP). The RP must be administratively
configured in the network.) 
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